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I RANTy By

WL/ \yTr—IZFh BEEEA EAEE EEE BRES 31—k No.
EHAHERE m3 39,530.00]  50,190.00] 8028| % T 7 $-060-49
LT
BEEEEHSS 2.0mLL E5.0mLLTF
IVh—PR#E 18-8-25(F §F)
HEHBEREDEE FEL
Bl -t DEE FEL
BETINDIESE —REE
EEEEREBH#HX S EREL
B4 RKE|HRE i dpd4 HAEBR gl
K ) =N EH 2.10
K1 aAVH ) =R TE[NSYHRE-T—LK] EERES90~110m3.~h 1.60 51,800 51,800
K2 -
K3 —
R(F7%) 59.42
R1 LBEXE 21.93 21,600 19,740
R2 BT 11.97 26,300 24,885
R3 TR —AHEE% 5.80 25,500 25,620
R4 EUT 3.52 27,900 24,990
Z(# ¥ 38.48
Z1 £a29)—k BfF 21—12—25(20) W./C 60% 38.14 14,500 26,200
Z2 R 1. 25 /\FO—)LEGH 0.26 115 146
Z3 -
Z4 —
S(h 35 i i) —
FTER
REME = 0053000 x ((— &= x P 4 —— x —0— ¢ o x — )X —
+ < 21.93 x 19,740 + 11.97 24,885 + 5.80 x 25,620 3.52 59.42
100 21,600 100 26,300 100 25,500 100 + 11.97 + 5.80 + 3.52
g ?2::88 + s it 0“0 + O+ e -
+ - x 0 + 100 — 2.10 — 59.42 — 38.48 0.00

EHEE = 5019000
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